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[llustrate the answers wherever necessary
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[NEW SYLLABUS]

" [FIRSTHALF]
[ Marks : 45 ]
" GROUP—-A

L Answer any five questions : 2x5

( Trn Over )



(2)

(a) Define probability density function.
1

1 2 2’
P(B)=-5 and P(4U B)= 3 then find

(b) If for two events 4 and B, P(A)=

P (A/B).

(¢c) What do you mean by standard error of
a Statistic ?

(d) Define null hypothesis and state its
significance.

(e) Determine the value of the constanf k which
makes f(x, y) =kxy% 0<x< 1,0<y<1
a joint probability function. ;

(f) Show that mean of a standardised variate is
Zero.

(g) Under what situation is a multi-stage
sample drawn ?

(%) Distinguish between Type -1 and Type-II
errror.
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GROUP —-B
Answer any three questions : 5x3

Define independent and mutually exclusive
events. Can two events be mutually exclusive and
independent simultaneously ? 3+2

If X and Y are independent, then prove that
VX +Y)=VX)+WD). 5

Using moment generating function find out
mean and SD of normal distribution. 5

Let T', T2 » T, be the estimators with expectation
E(T)=0,+20, E(T)=0,+20, and
E(T,)=0,+20,.Find the unbiased estimator

of 9, +0,+0,. 5

A sub Committee of 6 members is to be formed
out of a group consisting of 7 men and 4 ladies.
Calculate the probability that the sub-committee
will consist of (/) exactly two ladies and (i/) at
least two ladies. 2+3
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8.

(4)

Find the expectation and standard error of

sample proportion.

GROUP -C
Answer any two questions :

5

10x2

State and prove the Bayes' theorem of probability.

Explain in this connection the concept of prior
and posterior probabilities.

2+6+2

(@) Define random variable and its expectation.

(b) Examine whether the following can represent
the density function of a random vanable
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3 0<x$1-

, 2<x<53

X

elsewhere.

, l<x<2

, 3<x<4

4+6

10. (/) Find mean and variance of Poisson

distribution.
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(3)

(ii) If 5% of electric bulbs manufactured by a
company are defective, find the probability
that in a sample of 100 bulbs, 5 bulbs will
be defective. (Given e~* = -007). 4+6

11. (a) State and prove the theorem of total
probability.

(b) In a class of 100 students, any student can
take one of the subjects statistics and
Economics. 60 students take Economics
and the rest take statistics. 30 students
are selected (with out replacement) at
random. What is the probability that they

all take statistics. 5+5
[ SECONDHALF ]
[ Marks : 45 ]
GROUP - A
1. Answer any five questions : 2x5

(a) Is economic growth same as economic
development ?
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(6)

() Discuss how Human 'poverty index is
constructed. |

() What do you mean by 'vicious circle of
poverty' ?

(d) Define horizontal equity.

(¢) Define sustainable devciopmént.

() Explain the term backward linkage.

(g) What do you mean by balanced growth 7

(h) Explain the concept of rural industrialization.

GROUP — B
Answer any three questions : Sx3

2. Write a short note 'iuvesunént cri*.eria‘; |
3. Discuss the 'dual gap' theory of foreign aid.

4. Explain the importance of investment on
education for economic development of
any less developed country.
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11.

(7)

Indicate any three dimensions of gender-based
mequallty in an economy. -

Explain the basic components :of IMF's
stabilisation policy.
State the basic features of the lending policy
of the World Bank. '
GROUP —C

Answer any two questions : 10x2
Critically discuss the unbalanoedgmwlhsnategy 10
(/) Explain the concept of economic dualism.

(ii) Analyse the process of industrialisation and
rural urban migration in a labour surplus
economy based on Lewis' model. 2+8

Critically analyse Rostow's stage thoeretic
approach to economic growth of d country. 10

Show that both domestic capital formation and
foreign investment-are equally important for
the economic developrment of a less developed
country. 10
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